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11. Rough work must be done on the question paper itself. Additional blank pages ure given
in the questien paper for rough work.
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between the two versions, the informalion provided in the English version will stand and will
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LIFE SCIENCE
Category-1(Q 1 to 30)
(Carry 1 mark each. Only one option is correct. Negative mark: -14)

. When Tnsulin is produced in the laboratory, the process 1s called

(A) Genetic Engineering (B) Micropropagation
(C) Bioassay ; (D) All of these
T2 SRS BT & o4 23, wdld (1% Salors T

(A) caralbe BERaE (B) WETEIAATSA
(C) TR (D) aefz ==

2. In our bady, fat functions as the solvent of
(A) Tocopherol (B) Thiamine
(C) Niacin (D) Riboflavin
ST <iSias e (il @150 @i @[ 7
(A) BTEER= (B) s
(C) FEFE (D) AR
3. Which of the following nitrogenous base is not present in DNA?
(A) Thvmine (B) Uracil
(C) Adenine (D) Cytosine
HEEET @9 TEGETTE =hb [Ggdy co 4t w2
(A) [ (B) 3E=FE
(C) =CEE (D) A5
4. Which of the following digestive enzymes can digest protein in the acidic condition?
(A) Trypsin (B} Pepsin
(C) LCrepsin (D) Renin
TGS @R “fHeaa TEnal iFe Aae ela wdos Al
(A) LAt (B) (==
(C) Zasifm (D) @fe
5. Which of the following is not [ormed [rom Hacmoglobin within our liver?
(A) Haeme {(B) Bilirubin
(C) Biliverdin (D) Lecithin
s @R @il T9rs Bencin e Gesi @ Al
(A) = (B) Rfewefm
(C) RRFes (D) FHE
ANM(R) & GNM-2024 3 Sh A
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6. At present, how many nuclear power plants are there in India?

” NI “HIW” ANM(R) & GNM-2024
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(A) 3 (B) 4
(© 5 (D) 6
DG wloqad b Al [y Sl

(A) 3 (B) 4
(©) 5 ; (D) 6

7. Find out the correct order.
(A) Stmuli — Receptor — Motor neuron — Nerve centre — Sensory neuron —> Effector —» Response
(B) Stimuli — Receptor— Sensory neuron — Nerve centre — Motor newron — Effector — Response
(C) Stimuli — Effcctor — Motor neuron — Nerve centre — Sensory neuron — Receptor — Response
(D) Stimuli — Effector — Sensory Neuron — Nerve centre — Motor neuron—» Receptor — Response

i gt i st |
(A) TR - i > (6T FSER > FHE FI9F > G 1A MESEE - % — 7l
(B) THAT > BT —» (AR FEER — (FRE FTST — (M6 FSEM — FbF — #iel
(C) THAT > FFS > (HA Fe@H > (FRHT TTST > FooAd TR — 87T — Al
(D) TW#F — TS — CIATE WeGas — (FUd FIeE — [F57 W@ — 8485 > A

8. Which is not a check point of the cell cycle?

(A) Gl =S (B) G2 > M
{C) M- Gl (D) S

@D GRS (FICT (5 2IRID «y ?

(A) GL—=S (R) G2 >M
(C) M— Gl (D) S

9. Which of the following constitute a food chain?

(A) Grass, wheat and manga (B) Grass, goat and human
(C) Goat, cow and elephant (D) Grass, fish and goat
sl (@l aolb A eld o0 F 7

(A) T, 59 922 9w (B) =7, Bl5le @9 qRA

(€ e, Al a3 =T (D) M, W% 99 55

10. Which of the following is not a part of the female reproductive system in human beings?

(A) Ovary (B) Uterus
(C) Vas deferens (D} Fallopian tube
TR @D J-TFATEE TR Se ¢
(A) foxi=r (B) @y
(C) = ferica™ (D) e T
ANM(R) & GNM-2024 4 G A



Il o Ll AR

11. Which of the following group is not present in the amino acid?

(A) —COOH (B) —OH
(€) —NIL (D) €N
FEfHEE spefefera Wy (G SR St W e

{A) —COOH (B) —OII
(C) —NH, (D) —CN

12. Thyroxin is secreted from which of the following glands?

(A} Pituitary (B) Adrcnal
(C) Testis (D) Thyroid
faleRe afgulm o @R @ MP2REE ey e

(A) #EEIE (B) SUTGAE
(C) wTpd (D) LTS

13. Which of the following is associated with schwann ccll?

(A) Dendrile (BB) Axon
(C) Cell body (D) Synapse
TEERwals Y @G 7 @A @ T ¢

(A) (TGRS (B) 5o
(C) SHmZ (D) Fiasyi#i

14. Which one of the following is the vestigial organ of human?

{A) Pancreas (B) Liver

(C) Appendix (D} Gall-bladder
fsffeafa S e ls wiies i ome

(A) olaT (B) =g

(C) SHiToleH (D) @

15. Number of air-sacs present in pigeon are

(A) 7 (B) 7 pair
(C) 9 pair (D) 9
AT (702 TR TN T

(A) 715 (B) 7 caret
(C) 9 c=rwl (D) 9T

ANM(R) & GNM-2024 5 | %ﬁ'@ A
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16. Which one is nirogen fixing bacteria?

(A) E Coli (B) Bacillus

(C) Rhizobium (D) Helicobucter
A& BIe AREFTEE A @

(A) E Cuoli (B) Bacillus

(C) Rhizobium (D) Helicnbacter

17. Which onc of the [ollowing causes biomagnification?

(A) Air-pallution (B) Water-pollution
(C) Light-pollution (D) Sound-pollution
Trigi= e (oD e N-a3 FRe e

(A) T (B) weTHRe

(C) St vy (D) ==

18. Mendel is popular for postulating

(A) Cell Theory (B) Laws of Inheritance
(C) Linkage Theory (D) Origin of Species
R @ Es w0 clws [ s

(A) &I Fefy (B) Geq fa<sla o

(C) Fcmer efd - (D) I orp P

19, Which is the natural auxin?

(A) 2,4-D (B) NAA
(€) 1AA (D) TPA
AFTeT W @ e

(A) 2,4-D (B) NAA
(C) TAA (D) TPA

20. Which of the following parts of the brain regulate body balance?

(A) Cerebrum (B) Cerebellum

(C) Hypothalamus (D) Pons

fefaie sfeme &= 9wl «Fraa s o ewe

(A) olcagis (B) GTAG=N

(C) ZRCAAIEA (D) A=A
ANM(R) & GNM-2024 6
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21, Which of the following caompounds is found in the cell wall of fungi?

(A) Cellulose

(C) Ilemicellulose

AT AR @ A Salige e
(A) Cljels

FrY e e
(C) ENCEETS

22. A cross between unlike organisms is called
(A) Tesl cross
{C) Heterosis
Y% 7o & (49 0 FASANE TA
(A) (575 &
(C) BRI

(B) Chitin
(D) Pectin

(B) 5
(D) ARG

(B) Back cross
(D) Hybridization

(B) <JF&FA
(D) 2EfeRmE

23. Which protein is found in the core of a nucleosome?

{A) Histone
(C) Globulin

eI @ & (@it THE e

(A) EeoR

(C) EREER

(B) Albumin
(D) Collagen

£3

(B) SO
(D) (F=tE

24. Which of the follawing plant group is not spermatophyte?

(A) Gvmnosperms

(C) Pteridophytes

e (S S (A =i RrRs 73 7
(A) Termra

(C) (lETeRFZE

(B) Monocots
(D) Dicots

25. Which agglutinogen and which agglutinin are present in the blood group B?

(A} Band Anti B
(C) Band Anti A

(B) A and Ant A
(D} A and Anu B

R 79 0T @ ST ¢ @R wigfiie S 2w

(A) B a3 =rf% B
(C) B @A =rs A

ANM(R) & GNM-2024
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26. Animals which lay egus are called—
(A) Viviparous
(C) Oviparous
@ 281 T slicy ooEE TE—
(A) TRE
(C) Tew

27. Find out the correct maich from the following:

(A) Pancreas — Mixed gland
(C) Ovary — Exocrine gland

o= A A= (oo om A <
(A) wIopg — TS &%
(C) Foumiy — <fagweq afy

ANM(R) & GNM-2024
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(B) Carnivorous
(D) None of these

(B) MR
(D) @haifoE a3

(B) Spleen — Endocrine gland
(D) Skin — Mixed gland

(B) Ziml — sreewa dfy
(D) T — e afy

28. When number of a particular herbivore increase in a forest which type of struggle can be found for

food?
{A) Intraspecific
(C) Both (A) and (B)

(B) Interspecific
(D) None of these

CRICT SR I A 6o 07 Beverdita steest gfan =i woie <1 ety Colet 2ol 1220w (el T 2

(A) weezeie
{C) (A) 93¢ (B) Beas

-~
w

(R) “iiseife
(D) «<sF7 @Ehe m

29. The amount of DNA becomes 4C from 2C in which subphase of interphase of a ccll cyele?

(A) Gl
©) G2

(B) §
(D) Gy

(HIBTTA 0TS (<Blel ST DNAET #{f25119 2C (27 40 2

(A) G1
(C) G2

30. We feel bodyache after vigorous exercise due to

(A) accumulation of urea in our body.

(C) accumulation of ethyl alcohol in cur blood,

B) S
(D) Gy

(B) accumulation of lactic acid in our muscle.
(D) accumulation of glucose in our muscle.

(T = AR vl ST ST A 29l wiae ==

(A) SIS (702 283 B The |

(C) SR F0& 3R el e S0 Them |

(B) ®iuited CoIf¥ITe safbss emife e qieT |
(D) o=id -7 2e e e |

ANM(R) & GNM-2024 8
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34.

35:
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LIFE SCIENCE
Category-II (Q 31 to 40)
(Carry 2 marks each. One or more option is correct. No negative marks.)

What is the age of Adolescence in human according to WHO?

{A) 10-20 vears

(C) 13-21 years ;

WIIO W3] Wi quexfth vale 92 67
(A) 10-20 727 "

(C) 13-21 925

Which of the following matches is correct?
(A) Monocular vision — Man

(C) Monocular vision — Horse
e (e (elvils Ao

(A) Gield s 3

(C) GFAa 9% — (e

Regeneration seen in—
(A) Amocba

(C) Hydra

TS (7 AH—

(A) @it

(C) 2@

(B) 10-19 vears
(D) 12-21 years

(B) 10-19 I==1
(D) 12-21 T

(B) Binocular vision — Horse
(D Binocular vision — Man

(R) Tarma g% — a7
(D) fatea 4% - i3

(B) Octopus
(D) Planaria

(B:I \'-'\'E.;;E.f W?W
(D) BT

Which are exotic species introduced to India and cause harm?

(A) Dalbergia Sissoo
(C) Eichornia Crassipes

(B) Parthenium hysterophorus
(D} None of these

AEEe @Rel ©a0e S RS £FIe 11 AREeE Fhe 502 ¢

(A) g alz
(C) THIE=MI

Cadmium coempound ¢an cause
(A) skin cancer in human.
(C) brain cancer in human.

FICHER eon (19 (AT TREa ATE
(A) TEF AT 20 A |
(C) FREHFR FAR TS AT |

(B) #lgiazrs Brbiaiaws

(D) «slen @D T

{(B) lung cancer in human.
{2} liver cancer in human.

(B) TP T 2o 7L |
(D) FreiEg TR =S A |

ANM(R) & GNM-2024
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36. In which of the following places conservation of Tiger Projectis running?

{A) Jaldapara (B) Bandhavgarh
(C) Kanha (D) Vitarkanika
fsere (@ gaelTe I ATF 49 ble SE?

(A) @it (B) A<l

(€) == (D) ooz

37. Metabolic disorders depend upon the functioning of

(A) Heart (B) Muscle
(C) Liver (D) Pancreas
el cotrecaeleft @ wae ST BieeE Tod Moy Tta o1 &

(A) Zefore (B) A
©) 7= (D) W7

38. Which arc the living permanent tissues in the matured condition?

(A) Schlercnchyma (B) Parenchyma
(C) Chlorenchyma (D) Collenchyma
sfere g @ ZaeeT e |ide?

(A) ARSI (B) ST

(C) @Fits~iea (D) (FieE-sE

39. Oxygeneted blood cnters the heart through

{A) Right Auricle (B) Right Ventricle
(C) Left Auricle (D) Left Ventricle
SRTEETET IS (3 OgA bl Fefe 2T T, ©f

(A) T wlleir (B) T oo

(©) I == (D) A f=m

40, The process of engulfing food and water by Amoeba is called

(A) Engulfing and Absorption {B) Phagocylosis and Pinocytosis
(C) Both the above are correct (D) Nong is correct
TRl e S SeeE s ie(e < JeT 2 :
(A) &9 ] 8 (iR (B) WSPRGIE ¢ Famieshe
(C) Tora whE Be (D) @D BF T
ANM(R) & GNM-2024 10 s SR
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PHYSICAL SCIENCE
Category-1(Q 41 to 55)
(Carry 1 mark each. Only one option is correct. Negative mark: -'4)

Which one among the following is equal to 1A?

(A) VQ (B) v7'Q

(C) Cs : (D) Cs*

57 2ve (e lb 1A-CF 2T T 27 '

(A) VQ B) V'O

() Cs (D) Cs™

Main component prescni in denatured spirit with ethyl alcohol is
(A) Methvl alcohol (B} Naphthalene
(C) Vinegar (D) None of these
DTS Polfs Telfte si=mFiaET 05 249 (@ TG dies —
(A) Treligs ShieTEs (R) AT

(C) f&wa= (D) aafd (HhE 7

43. A S0kg block is kept on the horizontal floor, the reaction on the block would he
(take g = 10m/s")
(A) 250N (B) 50N
(C) 300N (D) 1000 N
a4lb STEie (RT ey FB S0kg ©EA 3T AN AR T esis femdE i —
(g = 10m/s%)
(A) 250N (B) S0N
(C) 500N (D) 1000 N
44. In the following table sclect the correct matching between the left and right column:
Left Column Right Column
(1) 1mole NH;y (o) 2
(2) No. of moles in 44-8L H., (b) 176g
(3} No. of moles in 140g N, {c) 17g
(4) Wrt. of 89-6L of CO, (d 5
(A) 1—c, 2—u, 3—d, 4—b (B) 1—b,2—c¢,3—d, 4 a
(C) 1—d, 2—a. 3—d. 4—c (I2) None of these
Fsa Faillce <isl @ TF TS 206 TENSHE A AN [ T
=TT Yl e
(1) 95 U3 S (a) 2
(2} 44-8L Hy-a% G5 784] (b) 176g
(3) 140g N,-93 GTie ALzl (c) 17g
4) 89-6L CO,~97 €&= (@) 5
(A) 1—c, 2—a, 3—d, 4—b (B) 1—b:2—¢,3—d,4—a
(Crdletisg=a 3-—d, 4+ (D) Qa7 @l=\{be T
ANM(R) & GNM-2024 11 e A
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45. A body gets accelerated

(A) when an unbalanced foree acts on it.

(C) when there is no effective force on it.

9FT TEF v 4fo e wh

(B) when a balanced force acts on it.
(D) None of these

(A) T 93 ©2fohe 0 eq 8o T @I (B) 14+ @l ofeSs 757 o7 wsiq e 53|
(C) T2 eF ¢d (T PHT T T Tt o1 | (D) <ofT @aihs ay

46. Which of the following is having identical cleclronic configuration like He?
(A) T (B) Na*
(@ Li*t (D) H*
A @ SR« Tealy B RRms s
(A) Lit (B) Na*
€@y Litt (D) H*

47. Cold and dilute nitric acid produces hydrogen gas when it reacts with a particular metal; name of
the metal is
(A) Zn (B) Cu
(C) Fe (D) Mg
Siest @ 7% ARfF ST cowenia @3 e T Ritwy gatmies i Sedr T Sl 4ot
=
(A) Zn (B) Cu
(C) Fe (D) Mg
48. The order of reducing power of the halogen is

49.

(A) I>Br>Cl>F

(C) F<Cl<Br«lI
rETTed (llesfo Feme = @ab e
(A) I>Br>CI>F

(C) F<Cl<Br<I

(B) Cl>F>Br>1
(D) T>Cl>Br>1

(B CI>F>Br>1
(DY F>Cl>Br>1

The V-I graph of a substance is given; the substance is a

(A) Metallic conductor
{C) Non-Ohmic conductor

(B) Ohmic Conductor
(D) An electrolyte

Rltell G5 #FfE V- @1ifbe Soira (e =g, smdls —

(A) 4ieg 29
(C) T-eeiy »fFaD

(B) €3%7 #ifF4(%]
(D) wibeSes;

ANM(R) & GNM-2024
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30. Vinegar is the aqueous solution of acctic acid in which the percentage of acid is usually

(A) 5-%% (B) 9-12%
(O 10% (D) less than 5%
fefole = wnie b enibimes Ty «ad; are SA%S orEg «waal #fEm
(A) 5-8% (B) 9-12%
(C)y 10% (D) 3%-93 3%
51. In case of electrolysis the oxidation occurs at
(A) cathode (B) anode
(C) beth in cathode and anode (D} None of these
e g »uy wige =%
(A) RIS (B) ==s
(C) TRAC-SMAT SRS (D) 9= (< lebs 7
52, eV’ is the unit of
(A) Polential (B) Power
(C) Wark (D) Ionisation energy
eV GGt @ FRE T 9 78 A 5=
(A) ez (B) “wwst
(©) 94 (D) i1 #ifs

53. Anobject is kept at a distance of 20 cm from a concave mirror having focal length 10 em; the size
of the image would be

(A) diminished with respect to the object. (B) magnified with respect to the object.

{C) cqual (o the size of the object. (D) can’t be said.
@Al @<l <EE 10 em RIS RfE T wold (A4 20 em TECY Tkl S, 2R vhhe
(A) TR A G ZA | (B) <4 Aeeles f9afefe o3

(C) <wd Hizegd 7 203 | (D) 5%q <=] 7T =4 |

34. A nurse finds the increase in temperature of paticntas 4-5°in Farenheit scale; the equivalent increase
in Celcius scale is

(A) 8&1° (B) 40-1°
() 2:9° (D) 2:5°
Gl IR (P 157 (P27 T2l Fliel4l2B (50 4-5° 9% 708 (el € Baww e oimBrey
(%01 94
(A) 81° ) (B) 40-1°
©) 2-9° (D) 2:5°
55. The permissible limit of pH in drinking water is

(A) 6-8 (B) 6-5-85
(C) 7-5-9:5 (D) 5:5-85
AT ST pH-a< Sl GIre 7150 T 251
(A) 6-8 (B) 6:5-85
(C) 7-5-9-5 _ (D) 5-5-85

ANM(R) & GNM-2024 13 S A
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56.

59.

60.

PHYSICAL SCIENCE
Category-II (Q 56 to 60)
(Carry 2 marks each. Only onc option is correct. No negative marks.)

The dimensional [ormula of latent heat is

(A) L2T2 B
(C) LT (EEAT

Slewld AHBE 7T Ao = :

(A) T27° (B) LT?
(C) L% (D) T2T

. U emits an o particle. The product has mass number and atomic number —

(A) 236 and 92 (B) 234 and 90

(C) 238 and 90 (D) 236 and 90
U (20 @36 o et ofo ager Berm mRIfSa wemedl @ st sl 22 e
(A) 236 9<g 92 (B) 234 493¢ 90

(C) 238 «<€ 90 (D) 236932 90

. Sound wave iz a

{A) Transverse elastic wave. (B) Longitudinal claslic wave.
(C) Electromagnetic wave. (D) None of these
Ao dy 52T
(A) Tods Sfogiem v (B) Sleind; ZfSziorm wam |
(C) <fEepsFiT wze (D) <&z &imiibe 7

When a 100 W bulb glows for 1 min. the encrgy consumed by it is

(A) 1kJ (B) 1001

(C) 6kI (D) 6001

100 W TFIoRTd (el a9 1 BFG 4is gooe &« a7 seq—
(A) LK (B) 100]

(C) 6kJ (D) 6001

A caris moving with an acceleration of 5 m/s?; if an identical car is attached to that car, the resultant
acceleration would be

(A) 5 m/s’ (B) zero
(C) 2:5 m/s® (D) 1-25 m/s?
I MG 5 m/s® w7 oo ; wie T SRt @9l SIS s fim v weet =@
(A) 5m/s’ (B) =1
(C) 25 m/s? (D) 1-25 m/s?
. W3 ]
ANM(R) & GNM-2024 14 e A
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ENGLISH
Category-I (Q 61 to 75)

(Carry 1 mark each. Only one option is correct. Negative mark: -14)

61. Choose the word which means the same as ‘Awesome’.

(B) Excellent
{TY) Poor

(A) Surprising
(C} Very bad

62, Choose the word w
(A) Brave
(C) Lazy

hich is opposite in meaning 1o *Active:,
(B) Ugly
(D) Coward

03. Out of the four alternatives given, sel

ect a similar sentence in indirect specch:
She suid to me,

“You will reach therc at 12 noon lomorrow.”
(A) She asked me to reach there by 12 noon the previous day.
(B) She told me to rcach there by 12 noon the following day.
(C) She wants me to rcach there by midday.

(D) 1 was directed by her to reach there by 12 noon that day.

64. Fill in the blank with the appropriate opl
“T will look
(A) at
(C) up

ion given below in the following sentence:
the meaning of the word in the dictivnary,”

(B) inio

(D) out

65. "He studies in university in Delhi,”
In the above sentence. wh
(A) the
(C) an

ich of the following Options may be correctly used?
(B) a
(D) those

66. Choose the allernative that correctly fills up the blank i the
“The wounded soldier was -
(A) lay
(C) lain

given scnlence:
—_ onthe stretcher.”

(B) lied

(1) lie

67. Choose the correct alternative:
“The patient ____
(A) died
(©) dic

before the doctor came.”

(B) had died
(D} dies

ANM(R) & GNM-2024 15 ‘E%E'
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68. Select the correctly spelt word:

0Y.

74,

71,

74.

{A) Aedmirable (B) Admerable
{C) Admireable (D) Admirable

Select the correctly spell word:
(A} Chuse : : (B) Choose
(C} Chocse {D) Choos

Select the correct alternative to complele the sentence meaningfully:
“A bad workman with his twols.”

(A) quarrels (B) quarrel

(C) quarreling (D) quarel

Choose the correct alternative to complete the sentence meaningfully:
“As you $0 you reap.”

{A) sown (B) sowed

(C) sow (D) will sow

. Choose the word which has nearly the same meaning as “Possess’.

(A) Invite (B) Wealth
(3y Own (D) Claim

. Choose the word which has just the opposite meaning of ‘Finish’.

(A) Sturl (B) Stap
(Cy Complete (D) Turn

Choose the noun form of “National”.

(A} Nation (B} Nationalize
(C) Natonally (D) Natonalized

75. A person who cannot see is called
(A) Deaf (B} Dumb
(C) Lame i (K (D} Blind
ANM(R) & GNM-2024 16



76.

77.

78.

79.

80.

S e L e sy REARNET o
MATHEMATICS 2

Category-I ((. 76 to 85)
(Carry 1 mark each. Only one option is correct. Negative mark: -4)

1 : : ;
If a+—=1, then the value of ¢ + 1 is
o

(A) O (R) -1 C) a D) «
o 1 s _
qb g+—=1 T FEE g -+ 1-9F 5 g

7
(A) 0 By 1 (C) a (D) &

Sum of the roots of quadratic equation 2x* - Sx + 3 = 0 s
(A) 2 (B) 3 © 3 (D)

257 = 5% + 3 = 0 — @3 B9 Ty Semad @ew 5d
(A) 2 B) 5 (C) 3 (D)

tJ | A

The value of log, 27-log 9 i
(A) 0 i
.
5
© ? (D} None of these
)

log, 27 -log 5, 9 -aq il g

3
(A) 0 (B) -
i 2
@ 8 o \
oy = (D) o= &Frafbs 97

If the arca of a circle is 616 ¢m”, then the value of the diameter of the circle is

(A) 14cm (B) 28 cm (C) 7cm (D) 27 em

GFH e TFIFE (16 om? 7w, ‘g\s@ﬁ. Tar gga
(A) 14 em g (B) 28 cm () 7com (D} 27 cm

If the volume and curved surface area of a right circular cylinder be equal, then the radius of the
cylinder is

(A} 2 unit (B) 3 unit {C) 4unit (D) 5 unit

4 FEgET BT TG Gk TFER (R T IF, ey e 7
(A) 2 unit (B) 3 unit _ (C) 4 unit (D) 3 unit

ANM(R) & GNM-2024 17 - ERE A
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81. The principal amount which becomes Rs. 121 in 2 years at | (%o compound interest. will be

(A) Rs. 30 {(B) Rs. 25 (C) Rs.75 (D) Rs. 100

=7 2R 10% <19 T 707 (! Sdi(s 2 T Serge 7 121 Bisl &, o0 TP 20

(A) 50Tl (B) 255/ (C) 75T (D) 100 Bl
82. If 3.—'!—?:':—j . then the value of s 18
3 4 7 c '
(A) 1 (B) 2 ©) 3 (D) 7
ai &8 _ ¢ o o APz amem
3 4 7 i
(A) 1 (B) 2 €y 3 (D) 7

3. If the arca of the whole surface of a cube is 216 cm?, then length of its diagonal is
{A) 2y3cm (B) 4¥3cm (C) 6\3em (D) 843 cm
(I AT TS (ha 216 cm? ZE, T 0 204
(A) 243 cm (B) A3 em (C) 643 cm (D) 8§33 em

1 .
84. 1f sin@ cosB =, then the value of sin® — cos0 1s

2
4 ol _
(A) O (B 1 (C) = Dy 2
sinBO cosd :l A, sind — cosO 49 ¥l 409
2
1
(A) 0O By 1 () 5 (D) 2

85. A person bought some apples and if cost price of S apples be Rs. 6 and the person sclls allas 2 apples
for Rs. 3, then profit will be

(A) 30% (B) 20% (C) 23% (D) 10%

e (T T et e | T ST Sisleid TUIEn 6 39 3 4% 3 B 26 wem Ko [T
Frael, WEE O Fired [es] 'BlF €l

(A) 30% (B) 20% (C) 25% () 10%
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GENERAL KNOWLEDGE .
Category-1I (Q. 86 to 95)
(Carry 1 mark cach. Only one option is correct, Negative mark: -14)

86. The largest lake in the world is
(A) Ontario
(C) Lake Superior
IRSERIAT s
(A) =rhife
(C) &1 APifars

87. The novel “War and Peace’ was written by
(A) Tvan Turgenev
(C) lea Tolstoy
“War and Peace’ G971 BIralces .
(A) Dol grftTs
(C) fere Temog

88. Who was the First Prime Minister of Tndia?
(A) Indira Gundhi
(C) Pandit Jawaharlal Nehru
WA U HAHE (3 BEe ¢
(A) TFE TR
(C) o wemageTH Iz

89. The capital of Japan is
(A} Seoul
(C) Beijing
G ATl
(A) Trees
(C) (a=fER

90. The longest river in the world is
(A) Amazon
(C) Nile
(A) ST
(C) et o7

(B)
(D)

(B)
(D)

Caspian Sea
Baikal

AP Al

(B} Anton Chekhov

(D)
I

(B)
(D)

(B)
L)
(B)
(D)
B)

(D)

(B)

(B)
(D)

(B)
(D)

Fyodor Dostoevsky
Wliae (54S

e Rreencie

Motilal Nehru
Rajendra Prasad

Tltes 2w

Bangkok
Tokyo

AIRTF

) Gifee

Mississippi
Yangtze

I

EXore
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91. _gas is used to extinguish fires.
(A) NMitrogen (B) Carbon dioxide
(C) Oxygen (1) Hydrogen
. Sy Sl FOTe 920 oF |
(A) AEGTET _ (B) T SiEmmEEy
(C) TfEme= : (D) =gl

92. How many states are there in India?

(A) 28 states {B) 24 sialcs
(C) 29 states (D) 25 states
(A) 2876 diey (B) 247 svey
(C) 297 ziwy (n) 256 7y
93, isthe national bird of India.

(A) Swan (B) Peacock
(C) Sparrow ' (D) Eagle
(A) 7 (B) =4

(C) FeiH (D) 275

94, How many ycars are there in One Millenniuvm?

{A) 100 yeuars (B) 2000 ycars

(C) 10000 years (D) 100Q ycars

& FETICA FO dug I

(A) 100 ==A (B) 2000 <=3

(C) 10000 <=3 (D) 1000 ==3

95. chemical element is designated as ‘Hg’ .

(A) Copper (B) Silver

(C) Tin (D} Mercury
SRS TAME Tl RFTA TS 39 & |

(A) il (B) =l

(C) = (D) #aw
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LOGICAL REASONING
Category-1 (Q. 96 to 100) _
(Carry 1 mark each. Only one option is correct. Negative mark: -14)

e e AR m i

96. Choose the correct option in the { ? ) position.
Indiz : Delhi :: Bangladesh : ?
(A) Dhaka (B) Kathmandu
{C) Kabul _ ' (D) Beijing

97. Choose the correct option in the ( 7) position.
22+ 1,324+2,4243.7
(A) 52 +4 (B} 3
(C) 532+3 (D)

L2 [ 2%
L
— b

N
1

98. Find the odd one out.
(A) 36 (B) 64
(C) 121 (D) 13

99. Determine the correct allernative, which will replace the question mark.

2 5 7
12 8 20
I__'11 I ?
(A) 12 (B) 14
C) 15 _ (D) 18

100. Which number will replace the ( ? ) mark?

rd /f\ ,r‘//\\\ //j\\\

7‘/ N P \\ . iy s,

a5 N0 ¥ s ¢ 7op N
/ k - . Z/_/.— \..‘:.

3 6 8
(A) 59 (B) 18
(©) 29 D) 31
ANM(R) & GNM-2024 21 - A



